Arbeitsblatt

28.07.2013
Kostenlos auf dw-aufgaben.de
Aufgaben-Quickname: 1863
Aufgabe 1
Vereinfache den Term.
a)y-3-r-4-9-x-x-y Wy-y-9-2-3-2-y-y-x
A)o9-4-x-2-2-8-z-x dHy-10-2-3-9-y-y-y-z2
ey8-zx-2-3-y-10-x-x-2 N9 y-z-2-2-y-7-7
gy-y-x-8-3-y-8 Wd-z-7-x-2-x-x-2
Vr-x-y-6-7-y-5-2 HDy-10-8-2-y-x-y
Aufgabe 2
Vereinfache den Term wie im Beispiel a).
a)z-y-(=5)-z=(=B)yz*  b)T-y-(-2)- )z-y-9-3-2

2
d)y-6-y-10 e)10-y-y-6 Hy-(—4)-z-z
g)2-9-10-y h)6-(=2)-y-3 V3-y-7-x oy -x
Aufgabe 3

Vereinfache den Term.

a)y-4-10-6-2-2-2 b)y-3-
.5.7.9.

Ny
NS

Aufgabe 4

Vereinfache den Term wie im Beispiel a).

a) (=5) - (=8) -y -y = 40y? b) (=7)-5-y-2 )10 -z
2-xr-x-2 e)z-7-6-(=H) f) (=7)-y-10
5:4-(=5)-z h)3-8-2-9-2 )3-z-x-9-x

Viel Erfolg!
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